Vector Calculus MAT226 Spring 2025
Professor Sormani

Lesson 2 Dot and Cross Products

Carefully take notes while attending class or watching the lesson videos. You will cut
and paste the photos of your notes and completed classwork in a googledoc entitled:

MAT226S25-lesson2-lastname-firstname

Then share editing of that document with me sormanic@gmail.com. You will also put
photos of your homework in this googledoc. If you work with any classmates, be sure to
write their names on the problems you completed together.
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The 226F21-2 Playlist has 12 videos which you may watch if you missed class. Below are
the class notes:

Quick Review of Lesson 1 (in class not in videos).



https://sites.google.com/site/professorsormani/home/teaching/vector-calc-f25
https://sites.google.com/site/professorsormani/home
mailto:sormanic@gmail.com
https://youtube.com/playlist?list=PLRHpZu30FKOWh-VwG4YX7RKi0GL0-vaCM
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The 226F21-2 Playlist has 12 videos. Below are the class notes:


https://youtube.com/playlist?list=PLRHpZu30FKOWh-VwG4YX7RKi0GL0-vaCM
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Check to be sure you watched all the videos and did all the classwork before doing
homework.

Old Lehman Homework Read 11.3-11.4 and do all odd problems from

Calculus with Early Transcendentals by Larson, Hostetler, and Edwards Ed4

| copied the questions below so you do not need the book, but might find it useful to
have as a resource (its only $20 used).
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Review Differentiation from your Calculus | notes or text before continuing to Lesson 3.



